DIt SUBTRAKTION

KONTROLLBLATT 1
40-30 = 80- 50 = 490-40=_
30-10= 20-10 = 340-20 =
90-20 = 50- 40 = 110-10 =
70- 60 = 40-10 = 760- 20 =

140-30 = 280-150 = 890 - 540 =

570-60 = 620 - 420 = 970 - 360 =

390-20 = 860 - 620 = 450-120 =

#50-10 = 320-110 = 6/0-450=__
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DIE SUBTRAKTION

KONTROLLBLATT 2
37-30= 98- 50 = #3-40 =
48-10= 35-10= 985-120 =
28-20 = 254-10 =
89 - o0 = 648 - 20 =
643-30 = 843-120 = 543- 540 =
234-10= 854 - 420 = 5360-310 =
633-20 = #3-020 = 846 - 120 =
201-10 = 877-110= 951- 450 =
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DIE SUBTRAKTION

KONTROLLBLAIT 3
5713 = 745 - 24 =
68 - 23 = 95 - 42 =
28- 14 = 254- 33 =
83- 31 = 648 - 13 =
69573 = 843 - 531 = 545132 =
934 - 21 = 874 - 262 = 586 - 262 =
665 - 42 = 745113 = B46 - 333 =
261- 51 = 879 - 362 = 997 - bbb =
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43 -
9283 -
254 -
648 -

b4t5- 73 =
934.91=_
635 - 42 =
261 - 81 =

hitp://vs-maferial.wegerer.af

843 - 581 =

854 - 292 =
745173 =

877-392 =
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943 -
536 -
840 -
951 -

162 =
202=__
373 =
666 =
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